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HE 796,766,557 100.00|& & 573,534,483| 71.98
TENEE 191,107,798|  23.99|mEh& & 69,336,493|  8.70
& 189,321,028 23.76| FEfIEE 8,278,380 1.04
PRATIERK 189,021,028 23.72 JEAT AR 8,278,380 1.04
T R i 300,000  0.04] FEUHCHE 61,058,113|  7.66
TR 91,813 0.01 FAPA 61,058,113| 7.66
FACTEH 91,813  0.01|H &R 504,197,990 63.28
TSR 1,694,957  0.21| EEAE 2,606,602  0.33
TR 1,694,957  0.21 ARIEUT A 2,606,602|  0.33
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e 2,086,621  0.26 7 APRES & 4,043,400 0.51
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T HE B 0 0.00[E< 208,675,012 26.19
T B 5,238,377 0.66] K& 208,675,012 26.19
FEHTE — LN EY) -5,238,3717|  -0.66 s 208,675,012 26.19
[ R AR 38,991,153  4.89| A% 78,577,066|  9.86
5 B R 52,072,059  6.54] BEANE 78,577,066|  9.86
ZEHTE — B R 13,080,906 -1.64 ZHE AR 78,577,066|  9.86
TR B St 1 16,189,529  2.03| BEfges4t -64,020,004| -8.03
AR R 55 56,257,060  7.06] EfEFE4H -64,020,004| -8.03
%ifﬂﬁéé—ffﬁkm&%%% 40,067,531 -5.03 ZREAAT -45,530,740[ -5.71
368 B A 5,631,786|  0.71 A4 -18,489,264 -2.32
w_&ﬁﬁm {% 16,649,880  2.09
RETHTEE — << RoaE s -11,018,094{ -1.38
R 21,550,395  2.70
RG] 76,688,764  9.62
ZETHTES — (IR -55,138,369] -6.92
i EE 775,191 0.10
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B 775,191  0.10
S 775,191 0.10
H&EE 520,434,084 65.32
TRIEE FE 22,886,006  2.87
IRIEE 22,886,096|  2.87
TIEERE 497,547,988|  62.45
REERE 578,168,366 72.56
Faties —(VEEE -80,620,378| -10.12
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